SPACE FOR ROUGH WORK / &= &M % fvd we

o e ¥ & whet ¥ - qw why A e vy, vl aef o ol s O @ o wleel
vEE THE F i ail fivs B A, whwdl wd e ol @ e wld = | dee g e
TF W OGH IR B wE W W, Tl oy o ol @ e e ¥ O a1 andel o
s w whadl B A | whaell e wl @ ol Wy ¥ A

68 (2201) | + 24

{1

yfeeent 2 IS1 1 €8 / Number of Pages in Booklet : 24

GReRT § %1 Sl €% / Number of Questions in Booklet : 100

10 TO 12 MORNING

W / Time : 2,00 S/ Hours | worfes / Maximum Marks : 300

( INSTRUCTIONS )

1. Please correctly fill your Roll Number in G.M.R. Shest.
Candidate will themself be responsibie for filling wrong
Foff Mo.
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Which place in Rajasthan is known for its ‘blue pottery’ ?

(A) Alwar (B) Jaipur
(C) Tonk (D) Bharatpur
T o Ber W Y uel’ & WY e e v 7
(A) s (B)

(C) (D) wEgR

Which one of the following is wrongly matched ?
(B) Pabuji — Kolu
(D) Gogaji — Dadrewa

(A) Ramdevji — Ramdevra
(C) Mallinathji — Kharnal
Frefvlae o § o= g™ Twa galvg § 7 ~
(A) TRES — THRET (B) wsl — &

(C) weFTesy — G| (D) IS — T&LEr

The fort Junagarh was built by -

(A) Rai Singh (B) Kalyanmal
(C) Ancop Singh (D) Sur Singh
TS o & e San e ar -

(A) s (B) oo
(C) ouRie (D) TRE

Which ruler of Bikaner was given the title of ‘Mahi Maratib’ by Aurangzeb as he was
influenced by his bravery ?

{A) Rao Dalpat Singh (B) Rao Sur Singh

{C) Rao Karna Singh (D) Rao Anocop Singh

FHEFT F BEA G D Bl TG A § YHIGT BIBE TN 7 Fe wUl’ & gy & 7
(A) U9 TEOais (B) wg s

(C) T Wi (D) @ euiiE

Who was the founder of the Guhil Dynasty of Dungarpur State ?
(A) Askaran (B) Sesmal

(C) Samant Singh (D) Udai Singh

SR T # Ree TSTET B GUNS B O 7

(A) mEsmT (B) Iwww
(C) wmafe (D) vaufds
68 (2201) | + 2 [ BT.O.
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Ganeshwar Civilization was situated in .

(A} Wagaur {B) Bundi
{C) Bhilwara (D) Sikar
Syt W W . Rery o |
(A) R B ©
(C) et D) dm
When was ‘Dakan Pratha’ banned in Udaipur State ?
(A) 1850 (B) 1853
(C) 1855 (D) 1858
SEUYX TG W SR WUT X GRS HY @l e ?
(A) 1850 (B) 1853 #
(C) 1855 # (D) 18358 ¥

The princely state, which was not part of Rajasthan Union formed on 25™ March,
1948 ? ‘
(A) Bundi (B) Pratapgarh

{(C) Udaipur (D) Shahpura

W Framm, & 25 @, 1948 %1 iea Wgwm TowrE @ war w8 o4y ?

@) & ®) T

(©) wEag D) g

The "Vidhya Pracharini Sabha' which was established during the Bijolian Peasant
Movement was propounded by -

(A) Ramnarayan Choudhary (B) Vijay Singh Pathik

(C) Manikyalal Verma (D) Jamna Lal Bajaj

st e oo & Srow wekia ‘fagen yeniel awr & vene ¥ -

(A) AT el (B) Fwmiie whie

(C) =it ot (D) v W 9

Who among the following negotiated subordinate alliances of 1817-18 with Princely
states of Rajasthan ?

(A) Charles Metcalf (B) Arthur Wellesiey

(C} John George (D) David Ochterlony

FreteRea o ¥ feww wergar @) <ot Raredl & iy 1817-18 & sy vy &) S
@A ?

(A) = Fems
(C) <= It

(B) R Wy

(D) sfus ewe@m

]
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i1 Param Vir Chakra awardee Major Shaitan Singh belonged to -
{(A) Jodhpur (B} Sikar
(C) Barmer (D) Jaisalmer
THER T feretar woR g e wwehad & -
(A) wegT ® (B) W9
(C) st ¥ D) S
12 Which historical heritage site of Rajasthan has been included in the UNESCO's World
Heritage list 7
(A) Havelis of Jaisalmer (B) Sariska Palace
(C) Jantar Mantar Observatory (D) Sat Saheli Temple
TR # e Ui alet @ ghwn @ e sRew € 4 gt fewr T g ¢
(A) SoeHT &) Tafel (B) wiw 5w
(C) =T F=a¢ JUITe (D) = agwr Ak
i3 ‘Pachhewda’ refers to -
(A) Costume (B) Turban
(C) Jewellery () Utensil
‘wdTer Welia ¥ -
(A) e (B) vl
(C) e (D) s
14 The folk dance form related to Garasia Tribe is -
(A} Valar (B) Gavari
(C) Terahtali (D) Chari
TR SR § ke AT S s -
(A) = (®B) w=l
(©) dTEamt (D) =0
15 Which among the following dialects is not a sub-dialect of ‘Dhundhari’ ?
(A) Ahirwati (B) Torawati
(C) Rajawati (D) Nagarchol
Frafafige Skl § ¥ SF-9 goRT @ ST O W 7
(A) eERER B) dER
(©) TwaErEy (D) rREW
68 (2201) ] + 4 [ BT.O.

16 Which river of Rajasthan mean “Hope of the Forests’ in local language 7

(A) Mahi
(€) Som

(B) Banas
(D) Mendha

T oy Topw W o wry ww A ‘g e o BEl Wi % 7

(A) = (B) T=m
(C) w= (D) W=
17  Which one of the following districts in Rajasthan is a part of Very-Humid Climate
region 7
(A) Ajmer (B) Rajsamand
(C) Baran (D) Dausa
Frefefea e & VAl ¥ 9 @R TE Sld-oTd Toarg Yest & 9§ 7
(A) ey B) TwmHEe
(C) sra (D) =

18 From which district of Rajasthan does the tropic of cancer pass through 7

(A) Ganganagar
{C) Kota

(B) Banswara
(D) Jhalawar

e % Prefvles & @ Rew e & St &% @ A e 7

(A) T
(C) wRT

(B) =St
(D) TS

19  Which one of the following lakes of Rajasthan is not covered under ‘National Lake

Conservation Programme’ 7
(A) Pushkar
(C) Fateh Sagar

(B) Aana Sagar
(I3) Bhopal Sagar

Preffen O ¥ 9 o o aeE 99 UST 9 9 sRmd’ & siata T8 ey

g7

(A) g=t
(C) W% TR

20 ‘Nal’ Airport is situated at -
(A) Jaisalmer
(C)y lalore
A TAEHE SERYT ¥ -
(A) SeeET ¥
(C) wwr

68 (2201) | iﬂ

(B) &1 9FT
(D) U gri

(B) Bikaner
(D) Sirohi
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What is the full form of JFM with related to forest management ?

(A) Joint Forest Management (B) Junior Forest Management
(C) Jury Forest Management (D) Jaipur Forest Management
JEM @t g TH w8 7
(&) T @ S

(C) =gt 37 wdym

(B) w97 gduw
(D) wOR =% y§u"

2%  Which one of the following sheep breed is known as ‘Chakari” 7
(A) Magara (B) HNali
(C) Pugal (D) Sonari
Fretfaiae & § o6 9% B T T % W ¥ W 9y 7
(A) =1Q (B) =
(©) = D) dEwEr
23 Golia and Hanotiya in Rajasthan have the reserves of -
(A) Copper By Silver
(C) Tungsten (D) Manganese
TR W T g e A Yy -
(A) d_ & (B) w&r H
C©) TRaTH O) ¥ s
24  In Rajasthan, maximum administrative forest areas fall under which of the following
categories ?
(A) Protected Forest (B) Reserve Forest
(C) Restricted Forest (D) Unclassified Forest
T ® sfecd weTeie oW & Fretaiea Sl F @ foud wtm ¥ 7
(A) vt == (B) amdy a9
(C) aRfg o= (D) srerfigm =
25  Which of the following pair is correctly matched ?
Area District
(A) Bangar - Bundi
(B) Vagad - Banswara
(C) Bhakar - Sikar
(D) Girwa - Dungarpur
trrfoiaa o ¥ wmer @ gakia € 7
e fren
(A) R - q
(B) =Fs S L1
(C) #m@ - g
(D) P S A
68 201 ] == 6 [ PT.O.
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Which of the following crop is known as “White Gold” ?
(A) Soyabean (B) Tobacco

(C) Cotton () Wheat
Frefafe © € 20 B9 9%T W7 % AW ¥ S W 8 7
(A) gmde (B) TE

() wwE ®

National Research Centre for Arid Horticulture' is situated at which of the following
place 7

(A) Jodhpur (B) Jaisalmer

(C) Barmer (D) Bikaner

UL = IOEE e g e A Y e wm wiem ¥ 7

(A) wEgR (B) SweT
(C) =™ (D) ST

Adwana dam is located in which of the following district of Rajasthan 7
(A) Barmer (B) Chittorgarh

(C) Jaipur (D) Bhilwara

ST Sy U & Frelaied § © g e A Raa % 7

(A) " (B) FrisTe

© g ©) T

Which of the following is known as ‘Desert Ganga’ or ‘Maru Ganga’ ?
(A) Indira Gandhi Canal Project

(B) Desert Area Development Programme

(Cy Narmada Canal Project

(D) Integrated Area Development Programme

Frefafen % § 69 ‘76 W wET W@ ¥ 7

(A) 3w A TRy ahEeT

(B) w5 8% Ty srmy

(C) a1 e ui

(D) wwta 83 faww sdwa

Which type of soil is mainly found in Nagaur, Pali, Barmer and Jaisalmer districts of
Rajasthan 7

(A) Sandy scil (B) Black soil

(C) Red soil (D) Yellow soil

TSRE & TR, I, 96 O wean] e § Jerd: S e Ul SRy 8 7

(A) vg= I (B) =l T

(©) i T D) B Far

7 [ PT.O.
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According to Graham's law, at a given temperature the ratio of the rates of diffusion
1p [ty of gases A and B is given by -

e 0| & e, Qg e WX A o B el % T @ Rl @ o 1 /1m
FOET BT —

1/2

(&) (P/Pp) (Ma/Mg)"? () (My /M) (Pa /Ps)

, , / i/
(©) (Pa/Pa)(Mp/Ma)? D) (M /Mp)(Pg/Pa)"?
When impurity is added to a liquid, the surface tension will -

(A) Decreases (B) Increases
(C) First decreases and then increases (D) Remains same

% 79 ¥ w9 Ayls P s ¥ @ oue 9% e -

(A) =&m (B) wem

(C) weel wewm aur et s (D) o= @&
The unit of ‘coefficient of viscosity’ is -

(A) kgmls (B) kgm!sl
(C) kgm?s (D) kg m s
JOTRT TS B IR & -

(A) femrder! 9 (B) Reur-dect gt
(€) m-aRe ¥ (D) feur-drex 971

If the liquid is in equilibrium with its vapours at its boiling point, then the molecules
in the two phases have equal -

(A) Potential energy (B} Kinetic energy

(C) Total energy (D) Intermolecular forces

Y TH ¥ A TS U T I F 9Ty WrRITeRe ¥ ¥, @ o1 @Y 3% Ml wraeeraly
# wHE B -

(A) RaRwr &= (B) TR ot

(C) @ ol (D) Sroeenias STeyY I
Correct relationship between coefficient of viscosity and temperature is -
AT UG IR O % 99 X O 99 ¥ -

(A) n=aca/RT ®) n=Ac Fa/RT

© m=ac® D) n=Ae 2R

[ PTO.
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The fraction of volume occupied by atoms in body centered cubic unit cell is -
i

HIBRT T SEEGINeE! ¥ T B AN §Y e @ o9 § -
(A) 0.32 (B) 0.48
() 0.68 (D) 0.74

Which of the following statements is not correct 7

(A) NaCl has Frenkel defect and CaF, has Schotiky defect

(B} AgCl has Frenkel defect and CsCl has Schottky defect

(C) Frenkel defect and Schottky defect are Stocichiometric defect
(D) AgBr shows both Frenkel as well as Schottky defect

g # ¥ oW ouT o ¥ 7

(Ay NaCl¥ ¥eww Ffe sl § X CaF, § sliea! 3k

(B) AgCl¥ %ew Ji¢ Brxr & @or CsCl H sifean Ffe

(C) %ww I 9 vicew I a9 wRiEtng I § |

(D) AgBr %ww T sl =T Fheat &t vl st §

The value of osmotic pressure depends on -
{A) Concentration of solute B
(C} Concentration of solution D)
TR T W AW T B § -

(A) Fem & e W€ (B) fommme & grgar o
(C) Towmg »f grsar 9% (D) I B GrEA 9

Concentration of solvent
Concentration of substrate

Which of the following depends on the temperature ?

(A) Molarity (B) Molality

{(C) Mole fraction (D) Weight percentage
e o B 99 R R A ¥ 7
(A) ¥

(C) 9@ M=

(B) HArear
(D) Wt g

Solubility of 2 gas in liquid increases with -

(A) Increase in pressure and increase in temperature

(B) Increase in pressure and decrease in temperature

(C) Decrease in pressure and decrease in temperature
(D) Decreass in pressure and increase in temperature
o T oW g N Rewa = oy -

(A) o€ Fo T AR a9 o g8 9T

(B) =@ s U¥ X o9 &9 & W

(C) o &9 %% 9T ot 99 &9 & T

(D) =™ &9 & IC X 99 §oN W

prosn
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41 If'V is the velocity, E is the electric field then the electrophoretic mobility is given
by - ‘
gt VI ¥ g B Rgaew € O Sgoew dued wfasfeer & A S
(A E/V (B) V/E
(C) UEV D)y EV
42 Which of the following is a corrosive poison -
(A) Strong acid (B) Mercury
(C) Opium () Alcohol
= & & o g BE T 7
(A) vsw o B) @
(€) eiftrr= (D) Tewpled
43 Phosphine liberated in the stomach in aluminium phosphide poisoning is toxic to all
cxcept -
{A) Lungs (B} Kidneys
(C) Liver (D) Heart
TR HIenEs (el § U2 & o B fhew e S wil & Wy e ¥ 7
(A) W (B) fesr
© =ga ©) &
44 Which of the following is a deadly poison ?
Frafaiea & o @FE 9a® 98 § 7
(A) KCIO, (B) KMnO,
(C) KCN (D) KOH
45 Regulatory toxicology aims at guarding the public from dangerous chemical exposures,
and depends primarily on which form of study ?
(A) Observational human studies
(B) Controlled laboratory animal studies
(C) Controlied human studies
(D) Environmental studies
Frafr fawfes &1 SEey TaeTe [Wahe SR § ST @ T T o1 98 9o ®9
¥ oremad & Frefeien 3 ¥ Tew w0 ux frelt wwar ¥ 7
(A) sE@Y aWd e
(B) TrEfm yErwEr 1y oeaT
(C) Trifye wT swaT
(D) walawer e
68 (2201) | + 10 [ PT.O.
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A curve is shown for the variation of number of molecules with kinetic energy at
different temperatures, (T, T,, T3). Correct relationship between Ty, T, and T3 is -
. — I ¥ T
T 9% Wl e ¥ S PR o (T, Ty, Ty) W arygadl ot o &1 1R ool
£ - al el . s . o -
& Ty wiEds it ew ®, T, T, 9 T, 5 99 & w8 v ¥ -

~< T
/ o T,
/ fﬁ%@gﬁ T
/ // &/f“%? :
/ _yd X“‘:M“”MM
[ T
Kinetic Energy

R H _>

o,

Mumber of Molecules
ausl & dem -

(A) T, >T,>T,
(C) T, =T,=T;

(B) T;<T,<T,
(D) T, <T,>T;

When anions leave the normal lattice site and electron occupies interstitial sites in its
crystal lattice, it is called -

(A) Schottky defect (B) Frenkel defect

{C) Metal excess defect (D) Stoichiometric defect

Y HORH GHER SEE OF G OIS 4al § a°T Suege hEd SIas o STy W @l
TE HT T T, A TE HEAWN & —
(A) sz g

(C) wrg enfea e

Creation of holes due to transfer of a cation from its lattice point fo interstitial site
is called -

(A) Schottky defect (B) Frenkel defect

(C) Metal excess defect (D) F-centre formation

U GG %, TP SIS 9GO I [ @ T W % B, vy 99 e ¥ ) e
% IO 39 TN B e © —
(A) stieer Ffe

(C) engemtu Ffe

(B) %aw gfe
(D) F-3g fmfo

e
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49 For an ideal solution, which one is incorrect 7

50

51

52
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(A) AH i =0

(B) AV, =0

in
() AP =Fops =P catoutate by Raoult's taw = O

(D) AGpyy, =0

e amest Rew & g, e @ o o & 7
(A) AHp, =90

B) AVyy, =0

(C) AP =Pypr — Pogw fraw % 2 oftshi 7 = 0
(D) AG,g, =0

Which technique is used for the separation of charged particles by applying electric
field ?

(A) Chromatography
(C) Solvent extraction (D) Electrophoresis
AT F B EEET e Y THAe G YUE R o s 7
(A) wEETE (I FE) (B) wiwEifa

(C) e frssde (D) <gaew dEwd

(B) Fluorescence

Which of the following sol will be negatively charged ?
(B) Arsenious sulfide
(D) Ferric hydroxide

(A) Titanium oxide

(C) Ferric oxide

e ¥ ¥ w9 weme e ' 7
(A) TeFrm seaEs

©) % siwaEs

(B) anditg aveRs
(D) Bhw Tagiegs

Electrophoresis can not be used for separation of -
(A) Proteins (B) Aminoacids
(Cy Nuclic acids (D) Lipids

JEaEY OwT @ [hus U % f6e ygE e fewr W wea ¥ 7
(A) wigF % (B) wiFr et %
C) i o & (D) e &

[ PT.O.
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In ideal gas equation, PV = nRT, the value of universal gas constant (R) would
depend only on -

{A) The nature of the gas

(B) The units of measurement

{C) The temperature of the gas

{3y The pressure of the gas

eyt g whdete, PV = aRT ¥ gt g frdie R @1 99 Sew e s ¢ -
(A) Fa & wph ™

(B) w9 @I @yl 1

(C) @ Fagw

D) o FTEw

€ correct X io essure exert s on the wall of container is -
The correct expression for press erted by a gas on the wall of container i

wig o o & O W ey T T % e o 9w T -

A _ 02 B p _ e
©) p= s ©) p= me”
302 283

According to kinetic theory of gases for a diatomic molecule :
(A) The pressure exerted by the gas is proportional to the mean velocity of the
molecule.

{B) The pressure exerted by the gas is proportional to the root mean square velocity
of the molecule.

(C) The root mean square velocity of the molecule is inversely proportional to the
femperature.

(D) The mean translational kinetic energy of the molecule is proportional to the
absoluie temperature.

a & e e & orEr aenes o) & fag -

(A) ¥ % &0 SO TE Y] & A AT & GEEIR B ¢ !

(B) o & TU SO €, oY & I AT HW NPT B GO T F

(C) &) w0 =l wred W o, O % Sgeeara el © |

(D) &) & wem Wy TS $el UEaT 6 WA S 1

[ PT.O.
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The size of the particle of precipitate will be large if
(A) relative supersaturation is large

(B) relative supersaturation is smail

(C) the degree of supersaturation is large

(D) none of the above

ST H HON o ST I97 B0, IR

(A) omifie erfodgear = By

(B) omifys sfdgwar w9 erl

(C) tferdgear wwmeT srl

(D) Sude # ¥ @5 79

On performing chloroform layer test, if brown layer is formed, which of the following
will be present 7

FARIGHE O TOH S W P W o9 § @ Fer F § = sufem & ?
(A) T (B) Cr

(C) Br D) €O

1 cm? of a solution Q was added into two separate test tubes.

To one of the test tubes, aqueous NaOH was added gradually. White precipitate was
obtained which in excess aq.NaOH becomes soluble. To the other test tube liquid
ammonia was added gradually. White ppt. which is insoluble in excess liquid NH; is
obtained.

What could solution Q@ contains 7
1 em3 Q Rem & o eev—are ueEHEl § S T

I ¥ T el s NaOH &) 8-t e T4 | TF §%E SNeT Wi TR 8, oY
fos NaOH =t otftres = 5 gemishier ¢ 1 gadl wteeay o, 59 NH; (erifwmn) & iR
T ST ¥ | U WE SEg W 5 59 NH, & ontven o oifaed ¥, wi w0 ¥
QR Y e T § 7
(A) PbCl,

(C) CaCl,

(B) AlClL
(D) NH,CI

Which of the following metal does not give Borax Bead Test ?
e o ¥ e uig siee-Tae (§1%) gl w8 & 7

(A Cr ®B) Ni

(C) Pb (D) Mn

68 (2201) ] + 14 [ BT.O.

&0

61

62

63

Values of dissociation constants of some acids are given below. Arrange them in the
increasing order of acidic strength.
A PO ordll % fe R AW RU T ¥ | 5% 0 e % Jed g ®Y ¥ Wyl
 H,80, =13 x 1072
HNO, =4 x 107
CH,COOH = 1.8 x 107
HCN =4 x 10710

(A) HCN < CH;COOH < HNO, < H,50,
(B) CH,COOH < HNO, < HCN < H,80,
(C) CH,COOH < HCN < H,S80, < HNO,
(D) HNO, < H,S80,; < CH;COOH < HCN

If pH =1 of a solution, then what weight of HCI is present in 1 litre solution 7
aft freas o1 pH W 1 8 @ Rwew & 1 Reex o HCL %1 fsawn 9 suRas € 7
(A) 365¢g (B) 365¢

(Cy 0365¢ (D) 0300 ¢

pKa values of two acids A and B are 4 and 5 respectively. The sirengths of these
2 acids are related as -

(A) Acid A is 10 times stronger than acid B

(B} Strengrth of acid A; acid B=4:5

(C) The strengths of two acids can not be compared

(B) Acid B is 10 times stronger than acid A
FaTATI B S pKa S a9 ot 49 5% | 91 ol o veoar &9 @9fm ¥ 7
(A) o/ A, T8 A U VEE § o B 9 :

B) s AT Ba yewar (A:B)=4:5%

(C) =Y o=l @I Vewar GRS el Bl §ear

(D) o B, &9 A SR USW § oW A ¥

What will be pH of 0.001 M Ba(OH), solution ?
0.001 M Ba(OH), fama @1 pH &1 871 7

(A) 2 (B) 84
(C) 113 D)y 2.7

68 @2on) | == 15 [ BT.O.
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Which of the following compound is most volatile ?
= & g ofve aie dfm em a ¥ 7

{A) HF (B) HCI
(C) HBr (D) HI

Oxidation number of oxygen is +2 in which compound ?
g difte & orfeiom & sifedien e 42 % 7

(A) H,G, By CO,

(C) H,O (D) OF,

o =1
The four quantum numbers n =4, /=0, m =0 and s = > represent the metal -

aﬂmé@ﬁ,n=4,!=0,m=@aw¥s=§,%€m§ﬁa3ﬁ%%?
(A) Sr (B) Ca
(C) Na (D) Mg

Which orbital does not have nodal plane ?

o8 wa® @ ew I 7ol S § 7

(A) s— B) p-
€y - (D) d-

The correct increasing order of ionisation energy is -
HETT Tl & ToH @ Tl WH T -
(A) Be<B<C<N
(C}) C<N<Be<B

(B) B<Be<C<N
(D) N<C<Be<B

The tendency to show inert-pair effect follows the order -

Fiera—gr TwE Ul SE-WE! U9 & a9 @ Y9 @ W8 B § -
(A) B<AI<Ga<In<Tl B) Ga>In>TI>B > Al
(C) Ga<In<TI<B<AI D) B=AI>Ga>Tl>In

Which of the following pairs of substances are structurally not similar ?
(A) Diamond and Silicon carbide (B) Boron nitride and Graphite
{(C) Borazene and Benzene (D) Diborane and Hydrazine
frfaiee o o ®ar e o SeT 93Eee w0 9 e 6 8 ¢

(A) swaes (E0) gw e ewks (B) 909 RIES OO %R
(C) TEA aur §=i (D) SEERT Tl TERENN

73

Yellow ammonium sulphide is suitable reagent for the separation of which of the
following 7

{A) HgS and PbE )

(C) CuS and CdS (D) CdS and As,5,

i emitaT avees P § ¥ oo yugew & e sugen alens § 7
(A) HgS gur PbS (B) PbS wur Ag,S

(C) CuS wur CdS (D) CdS @ As,8,

B)Y PbS and Ag,S

i T

For the reaction, H, @t iz(g) = ZHE( &) what will be the unit of equilibrium constant 7
(A) Mol™! Litre (B) Mol2 Litre

(C) Mol Litre (D) None of these

erfriepar Hyg) + 1oy = 2H % fg gr-Ruds @ 58w BEY 7

(&) "l e (B) #Aw? =3

(C) A et (D) ¥ o5 7

Any reaction reaches equilibrium if change in free energy is -
(A) Positive and Large (B) Zero

{C) Negative and Large (D) MNegative and Small
&5 erfler @ wiw ®X @l & Ul g Sl aiEdd -

(A) w¥TES qUT 9T 8 ®) =

(C) =oTe quT 9T & (D) =TT qUT W 8

74 1 mole of N, and 2 moles of H, are allowed toreactina 1-dm? vessel. At equilibrium,
0.8 moles of NH; is formed. The concentration of H, in the vessel is -
(A) 0.6 mole (B) 0.8 mole
(C)y 0.2 mole (D) 0.4 mole
T A N, 71 2 9% H, & 1 fiex 9 & arftfear &08 o ¥ 1 wmmaen 9w 0.8 |
NH; s9a1 & | SR o H, &} e § -
(A) 0.6 9@ (B) 0.8 %@
(C) 0.2 =@ (D) 04 9@

75 If the value of equilibrium constant, K for the reaction
Nopgy + 3Hyey = 2NH;y is 7, The equilibrium constant for the reaction
2N, + 6H, = 4NH; will be :
Al el Ny + 3Hy,) = 2NH;g) % fig oy Rexies K @1 7 7 %, o arfiesan
2N, + 6H, = 4NH, & fwg Ruxiew s :
Ay 7 B) 49
(C) 14 (D) 28

68 (2201) | “& 17 [ PT.O.
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Pick out the isoclectronic structures from the following :

CH; H,0" NH; CH;
i If il v
(A) Tand 1 (B) TiI and TV
(C)y IL Ml and IV (D) Tandill
P E EsReRe O @ ge -
CH! H,0* NH; CH;
I II I v

(A) Iaur Il (B) I @t IV
(C) I, II e IV (D) 1 OI

Two elements X and Y have the following electronic configurations :

X =[Ar]4s?, Y = [Ne]3s? 3p°

The compound expected to be formed by the combination of X and Y is -

g aal X am Y & eialed seeeie e
X = [Ar]4s®, Y = [Ne]3s? 3p°

Xam Y & daem o o onfhg Ofte s, w -

(A) XY, ®) XY,

© X,Ys D) XY,

Number of significant figure in 0.00149 is -
0.00149 ¥ wrdw ofw! @ v ¥

(A) 6 B) 5
<€) 3 ») 4

Which of the following is NOT a laboratory safety rule ?

(A) Never mix acids with bases

(B) Should tie back the long hair

(C) Never add water to acid

(D) Use always safety glasses

Frefales o & ®rar vameTer g fem e ¥ ?
(A) &9 o7 @ @R % 9 9 Hew Ty
(B) w9 s & O Si¥sT @ 9y

(©) & f g & orw ¥ WY s mRg

(D) wAs G WY | B B SUEIT B

The chemical which cannot be used as dehydrating agent in desiccator while performing

gravimetric analysis -

ARG [ ¥ 9% @RE W 5 Peidene o o see ¥ & T8 o ¥ -

(A) Py0;5 (B) CaCO4
(C) Ca(OH), (D) Silica Gel

68 (2201) ] + 18
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81 The correct siatement, out of the following is :
{A) R;value can be negative.
(B) R, value is always an integer.
{C) R value is greater than 1.
(D) R, value lies between 0 and 1.
g & & w1 o
(A) Ry T00 OT® & Gl & |
(B) R, s &9 qui® 81T ¥ |
(C) Reeg 19 W8T 8@ & |
D) Reg@ 0wd | & wem () & g &

82 In which type of chromatography the stationary phase held in a narrow tube and the
mobile phase is forced through it under pressure 7
(A) Column chromatography (B) Paper chromatography
(C) Liguid chromatography (D) Gas chromatography
Frer & @ fopm avferge & R sreran @t gl 7ol & foror Wi ¥ ofk =@ e @
THT qOEes gaTed fhar oy & 7 '
(A) w% guleras (B) wrw aviwed
(C) atw avives (D) 5 woieew

83 The size exclusion chromatography that separates the analyies on the basis of size is
a type of :
(A) Ion-exchange
(B) Paper chromatography
(C) Gel permeation chromatography
(D) Thin layer chromatography
T UGS JUREH, S YRR @Y 9o S SIHR & SR U ST 8, TH T
T
(A) oo e @t
(B) & IU@ET @
(C) v wfieW wofeeT
(D) o7 vt oo (T0E ol eiae)

84 In Normal Phase HPLC, the mobile and stationary phase, respectively are :
(A) Both polar (B) Both non polar
(C) Polar and Non-polar (D) Non-polar and Polar
g Tt HPLC ¥, wiives wd Rex =, osn §

(A) o g (B) = ergdm
(©) ygim o argem (D) eyEm o yua
68 (2201) | “i“ 19 [ PT.O.
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Walden Inversion is generally seen in -

(A) S5yICB reaction {B) S8y2 reaction
(C) EI reaction (D) EZ2 reaction
qiEST GAET FEET 9T S@T 9§ —

(A) SyICB efufear o (B) Sy2 afaiwar o
(C) E1 sriyfmm & (D) E2 orfytfsar o

Which compound can exist as stereoisomer ?
s difte By gaeEdr ¥ 7

-
O

(C) CH;-CH(CH;), (D) CH;-CH,-CH(OH)-CH,
Which of the molecule has a Chiral centre ?

(A) 2, 3—dimethyl butane (B) 2-methyl butane

(C) 3-methyl pentane (D) 2, 3—dimethy! pentane

frer % @ e on ¥ PRkw B ¥ 7
(A) 2, 3-sEafm =

(C) 3-=R@ 9=A

B) 2-3fw =S
(D) 2,3-=mafre 32

The TUPAC name of the given compound is :

(A) N-phenyl-N—cyclohexylmethanamide
(B) N-cyclohexylbenzamide

(C) N-—cyclohexyl-IN-phenylmethanamide
(D) N-phenylcyclohexanecarboxamide
Y W 9iffe # [UPAC 7@ § ¢

Dorend)

(A) N-SHa-N-uEw srRa i aTmEs
(B) N-OEeaEasvEe

(C) N-urgaseaEa—N-sFeemmes
(D) N-SFaaET e oamEs

68 (2201 | + 20

[ PTO.

89 Which of the following is the common functional group in an alkaloid structure 7

(A) Amine (B) Carboxylic acid

(C) Amide (D) Ketone

TehREe @ gxE ¥ e frm ¥ 9 ser e eE e s 7
(A) T (B) et e
(€) wEs (D) Reem

90 Antimalarials are -

(A) Cinchona alkaloids (B) Opium alkaloids
(C)y Coca alkaloids (D) Tobacco alkaloids
TRTET gl ¥ -

(A) R TeheEs (B) ifmw worerss
(C) = qwbuTgs (D) =@l Trwige

91 Which of the following group constitute coca alkaloids ?
(A) Cocaine, Morphine, Codeine
(B) Hygrine, Cocaine, Ecgonine
(C) Atropine, Hygrine, Ecgonine
(D) Cocaine, Nicotine, Brucine
e ¥ ¥ S G5 Dol TehwEe Bl s 7
(A) @i, IR0, BisT
(B) wrfim, @w, TEkE

(€©) waiRm, Taim, Tt

(D) w, Felfe, g

92 The alkaloid used in ophthalmology to dilate pupil of the sye is :
(A) Morphine (B) Codeine
(C) Atropine (D) Piperine

% TwHNIgs S A9 e ofE @ qae! @ [RGB § % e €, §

(A) T (B) =W
(C) wdw (D) wewlm
68 (2201 | % 21
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When propionic acid is treated with agNaHCO,, CO, is liberated. The 'C' of CO,
comes from :

(A} Methyl group (B) Carboxylic acid group

(C) Methylene group (D) Bicarbonate

= At v @t atfhisr S NaHCO; ® srit 8, @ CO, wiex freertt § 1 CO,
w 'C T ®

(A) = 39 (FF) @
(C) IMm go @

(B) weivalive ot g9 ¥
(D) sEwERE ¥

Predict the major product in the following reaction -
OH

2D e

(A) m—chlorophenol (B) o—chlorophenol
(C) p-hydroxytoluene () m-hydroxytoluene
i el @1 ge0 SoR” SaRe -

OH

0 AICI

@ —Cer
(A) m-sirditede (B) o-wrREa
(C) poETERRET (D) m-TESERIRET

Methylethyl ketone is the oxidation product of :

(A) 1-Pentanol (B) Tertiary Butylalcohol
(C) 2-Butanol (D) 2-Propanol

T ¥ fruer iedmr sae fugd T dW § 7

(A) 1T (B) W% GeRewEhE
(C) 2-=g=i@ (D) 2-5ew

In a neutral solution buffered with ammonium chloride, Nitrobenzene, in presence of
NH,C1/ H,0; 60°C, is reduced to :

(A) Hydrazobenzene (B) Aniline

(C) Azoxybenzene (D) Phenylhydroxylamine

ST FRITES ¥ SO (%Y §Q dewy fawew ¥ Wmemem @ NH,Cl/ H,0; 60°C &t
SRafy ¥ eoEEE Bler 5, 4 Bew €
(A) sEERERSE

(C) Ui

(B) uhw™
(D) Shersmaeds

68 (2201) | ﬂ&- 22 [ PT.0.
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68 (2201 ]

How many distinct triplets are expected from the 'H—NMR of ?

CH,C S, o, A ~ QCH}
NN N
CH,
(A) Zero (BY Two
(C) Four (D) Six

o gy e F 1TH-NMR & feee B9 s & fooeie &Y oder ¥ 7
CH,0 ~ ~ OCH,
N xv/\/

(A) @ By &
(C) = D) =

The vibrational degrees of freedom in benzene, CO,, 8O, respectively are :
&4, CO, T@ 80, ¥ &7 @oFar &l Fedl S G&, HAMW ¢ ¢

(A) 30,4, 4 (B) 3,4, 12

(Cy 30,4,3 ) 30,3,3

A compound of formula CsH,, gives one signal in the '"H NMR and 2 signals in the
13C NMR. The compounds is -

(A) n—pentane (B) 2—methylbutane

(C) 2, 2—dimethylpropane (D) incomplete information

ww ARt free e C.Hy, ¥, oo 'H NMR ¥ @& w@ BC NMR ¥ & dea & ¥,

% Aife ¢ -
(A) I (B) 2-"Rmea
(©) 2, 2-sEafywyes (D) el SFeTR

The correct order of §—value for the indicated protons is :

9T T W & e §-"F @ T8 B ¢
Hep) _~CO0H

O Xwé:mc\\

/ He
©
(A a>b>¢ B) a>c>b
(C) b>c>a (D) ¢c>b>a
23 [ PT.O.




